e -a)”

h=vo
c-mwraxwt— ug
_R< x-a<R

D cnt e

Tert the poiwby x= ik apal® -
Fud ke radivg o owergence  edcher Whing the Ratio TRA

or  wing e  Root Te#t far

[x-a\‘K',R- & be vadiuws
of convergence .

New Section 1 Page 1



Math 152/172 WEEK in REVIEW 9

Spring 2025.
1. Determine the radinsg and interval of convergence for the series.
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2. Find a power series representation for the function and determine the interval of co
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3. Ewaluate the indefinite integral.
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w- = o™

5. Find the Taylor series representation for f{z) centered at the given point.
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6. Find the Maclaurin series for fiz).

() f(x) = = cos(2x)

(b) flz)=me*

(c) flz)= 48+
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